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Cuadro 14 (continuación 1)/Table 14 (continued 1)
México: tablas abreviadas de mortalidada

Mexico: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.116 0.107  100 000  10 687  92 427 0.872 b 5 480 323 54.8
1 4 0.015 0.057  89 313  5 076  343 363 0.960 c 5 387 896 60.3
5 5 0.003 0.014  84 237  1 172  418 258 0.989 5 044 533 59.9

10 5 0.002 0.008  83 066   679  413 632 0.990 4 626 275 55.7
15 5 0.003 0.013  82 387  1 057  409 294 0.984 4 212 643 51.1
20 5 0.004 0.019  81 331  1 584  402 693 0.978 3 803 349 46.8
25 5 0.005 0.025  79 747  2 008  393 714 0.972 3 400 656 42.6
30 5 0.006 0.030  77 739  2 334  382 859 0.967 3 006 942 38.7
35 5 0.007 0.035  75 405  2 648  370 403 0.962 2 624 083 34.8
40 5 0.009 0.042  72 756  3 045  356 171 0.953 2 253 680 31.0
45 5 0.011 0.052  69 712  3 621  339 507 0.941 1 897 509 27.2
50 5 0.014 0.067  66 091  4 432  319 374 0.922 1 558 002 23.6
55 5 0.019 0.090  61 659  5 543  294 436 0.894 1 238 628 20.1
60 5 0.026 0.123  56 116  6 883  263 371 0.855  944 193 16.8
65 5 0.037 0.170  49 233  8 364  225 254 0.801  680 822 13.8
70 5 0.053 0.233  40 869  9 525  180 531 0.731  455 568 11.1
75 5 0.075 0.315  31 344  9 872  132 039 0.625  275 037 8.8
80 5 0.121 0.463  21 472  9 937  82 517 0.491  142 997 6.7
85 5 0.174 0.594  11 535  6 850  40 548 0.373  60 481 5.2
90 5 0.236 0.709  4 685  3 321  15 120 0.271  19 933 4.3
95 5 0.303 0.799  1 364  1 090  4 093 0.149 d  4 812 3.5

100 ω 0.381 1.000   274   274   719   719 2.6
Mujeres/Females

0 1 0.087 0.082  100 000  8 210  94 367 0.894 b 5 892 296 58.9
1 4 0.015 0.058  91 790  5 355  352 467 0.961 c 5 797 929 63.2
5 5 0.003 0.014  86 434  1 181  429 219 0.990 5 445 462 63.0

10 5 0.001 0.007  85 253   591  424 790 0.992 5 016 243 58.8
15 5 0.002 0.010  84 663   841  421 212 0.988 4 591 453 54.2
20 5 0.003 0.015  83 822  1 236  416 019 0.983 4 170 242 49.8
25 5 0.004 0.019  82 586  1 562  409 025 0.979 3 754 222 45.5
30 5 0.005 0.022  81 024  1 822  400 565 0.976 3 345 198 41.3
35 5 0.005 0.026  79 202  2 072  390 831 0.972 2 944 632 37.2
40 5 0.006 0.031  77 130  2 380  379 703 0.965 2 553 801 33.1
45 5 0.008 0.039  74 751  2 878  366 559 0.955 2 174 098 29.1
50 5 0.010 0.051  71 873  3 665  350 202 0.939 1 807 539 25.1
55 5 0.015 0.071  68 208  4 854  328 907 0.914 1 457 336 21.4
60 5 0.021 0.102  63 355  6 472  300 593 0.876 1 128 430 17.8
65 5 0.032 0.148  56 882  8 434  263 327 0.823  827 837 14.6
70 5 0.047 0.210  48 448  10 176  216 800 0.754  564 511 11.7
75 5 0.068 0.293  38 272  11 200  163 359 0.643  347 711 9.1
80 5 0.116 0.447  27 072  12 102  105 104 0.503  184 352 6.8
85 5 0.171 0.586  14 970  8 774  52 914 0.378  79 248 5.3
90 5 0.235 0.708  6 196  4 389  20 008 0.270  26 334 4.3
95 5 0.306 0.803  1 807  1 451  5 408 0.145 d  6 326 3.5

100 ω 0.388 1.000   356   356   918   918 2.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


